
Name:	_______________________________________________				Period:		___________	
Ch.	5	Test	(Analytic	Trigonometry)	[72	pts]	 	 	 Show	all	work.	 	 	 Practice	Test	(3)	
Establish	the	identity.		[5	pts]	

1)		csc 𝜃 − cot 𝜃 = ()*+
,-./( +

	
	
	
	
	
	
	
	
	
	
Establish	the	identity.		[7	pts]	
	
2)	,0123

4	+
,-1234	+

+ 2𝑐𝑜𝑠;𝜃 = 1	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	



Solve	each	equation	for	𝜽	on	the	interval	 𝟎, 𝟐𝝅 .			[7	points	each]	
3)	𝒔𝒆𝒄𝟐𝜽 = 𝟑𝒔𝒆𝒄	𝜽 + 𝟒	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

4)	𝟑𝒄𝒐𝒕𝟐(𝟐𝜽) = 𝟑	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

5)		Draw	a	reference	triangle	given	the	following:	
[5	pts]	
	 	 sin 𝜃 = − M

,;
				tan 𝜃 < 0		

	
	
	
	
	
	
	
	
	

6)		Draw	a	reference	triangle	given	the	following:		
[5	pts]	
	 	 	 𝑡𝑎𝑛0, 	 − ;

T
	

	

7)		Find	the	exact	value	of	the	expression		𝑠𝑖𝑛 𝑠𝑖𝑛0, V
W
+ 𝑐𝑜𝑠0, − ,;

,X
.			[8	pts]	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	



Use	the	reference	triangle	to	the	right	on	problems	8	
and	9.	[7	pts	each]		

	
	
	

	
	
	
	
	
	
	

8)	𝑠𝑒𝑐(2𝜃)		
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

9)	𝑡𝑎𝑛(2𝜃)	
	

10)			Use	a	half-angle	formula	to	find	the	exact	value	of	
the	expression.		[7	pts]	
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11)		Use	a	half-angle	formula	to	find	the	exact	value	of	
the	expression.		[7	pts]	
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